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FOREWORD

.--

To implement an educational approach succeSsfully, one must match the philosci-
'phy of.evaluation with that of instruction. This is particularly true when'individual-
izatiOn is the key element in the educational apprOich. Yet, as important as it Is to
achieve this match, the task is by no means simple for the teacher. In fact, without
specific resour aterials to help him, he is apt to find the task. overwhelming. For
'this reason, S has developed a set of individualized evaluation materials'as part of
its Indiyidu. ized 'Teacher Preparation (ITP) program. These materials are designed .

to assist tçAhers in their transition tO individualized instruction and to help them .

tailor their assessment of students' progress. to the.needs of all tlieir students.

The two modules concerned with evalua,tion, Individualizing Objertive Testing and
Evaluating and Reporting Prpgress. can 'be used by small groups of teachers' in in-
service settings or by individual teachers in a local schoo1 envirbnment, Hopefully,
they will do more than give each teacher an overview of individualized evaluation.,
These. ITP modules suggest key strategies for achieving both subjective and objective
evaluation of each student's progress. And to make it easier for teachers to put suc`i
strategies into practice, 1SCS has produced the associated booklets entitled PerfOrM-
ance Objectives. PerfOrmance Assessment Resources..and Perlbrinance Checks. Using'
tliese materials, the teacher can objectively assetss the.student's mastery of ihe proc-
esses, skills, and subject matter of the 1SCS program. t;nd the teacher can obtain,
at the moMent when they are needed, specific suggestions forremedying the stu-

.
dent's identified deficiencies.

11 you are an 1SCS teaCher, selective use of these materials will guide you in devel-
oping an individualized evaluation program best suited to your own settings and thus
further enhance the individualized charactes of your ISCS program.

The Co-Directors
Intermediate .Scienee Curriculum- Study :
.Km 415, W.H. Johnston Building --

415 North Monroe Street .

Tallahassee, Florida 32A1

$



NOTES TO THE STUDENT

Now that you have completed several chapters, excursions, iind self-evaluations, you-
ate ready to help yourteacher determine how well you are doing. The performance

checks in this hook will provide your teachg with this information, Then your
teacher can help you with things you may.nof understand and can keep a record

of your progress..

Read the next section carefully. It explains some important.things about the per-
formance checks in .this book, and it gives You specific suggestions for using them.

What You Need To Know about Performance Checks

1. You do performance checks when you are .rgady. Per-
formance checks are somewhat like the questions in the self-
evaluations you do them when you are ready, not when
the whole class is ready.
2. Your teacher or both of you decide how many you do.
Your teacher or you and your teacher together will decide.
Which ones you shou14,do. You .are not expected to do all
.01 the performance checks.

a

L.
AM I
READY? 1

3. There are three f9rms for each performance check. Every

performance check is written in three forms A. 13, and C.
(The title of this bOOklet tells you whether it is Form A, B, or

c.) Usually the answers for each form are different. When
you -do-,a.che-ck, you will use -Only- one form,- The A, B. and.C_
forms are always in different booklets. WitAin each booklet
all the performance objectives for the same unit are listed
together. A unit contains twO -or three chapters and their re-
lated e).cursions. These units are in numerical order. Each
unit has performance checks based bn core material and per-

formance checks based on excursions.
4. Each performance check has its own number. The number
is in the outside margin of the page and will look like this:

ES-03-Core-.17A or WB-01-Exc 2-2-2A. These numbers mean

ES - 03 Core - 17) A

0x..... 4) v)
.-. ... 2-. (.1

rti fa.
a. 77'

) 0 . z .9...,z
. n0

.-: 8.4 rcD).co "I =
. co

and



5. Each performance check is separated from the other.
There is Wine before each performance check and one after
it, Some petformance checks have several parts, so do el:Try-.
thing called for between the lines. If there is no line at the
bottom of a page,. the check is Nntinued onto the next page.
6. SometiMes you will ,need iue equipment. lf,special
materials are needed, they will be in boxesiabeleciWith the

_ satle number and someames the same -letter too as the per-
formance check for which you need them.
7. Some perforMance.Checks have two or more answers. If
More' than one answet is correct, you must select all the cot-
rect 4ioices. *In such cases, selecting just one answer is'. not
enough.
8. Some performance checks have no answers. Occasionally,
you may beasked to'do sometIN that' is impossible and to
explain your answer. If so, say that the task is impossible
and explain why. .

(This isra the kind of
checkbook you write in.

9. You share bboks of performance checks and YOU DO
NOT WRITE IN THEM. Write y41 answers on,other paper.
Give the number and form of the performance check for each
answer you wtite. If You are to draw a graph, a chart, or a,
map, your teacher may provide you with grid paper Or a copy
of the map or'chart.
0.. Your teacher or his assistant -will collect and mark yoUr

n checks. And sometime§ yo'u must ask him to watch or assist
you as you do a check. .,,

I I. Sometimes a review procdure will be suggested. If you
can't do a performance cheek, you may be askeirtoreview

,a part of the text or a 'self-evaluation uestion. YOu may.
then be checked on the saitie Material, so be sure you under-

-stand the miiterial you review. Get. help if you need it.

b,

1
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Look at.the -maps .below: In the 1970's medical authorities in southern urope re- '

port91 the spread of a new type f flu.. A week 'later 'doctors.in many different
. cities of central Europe bad -already reported 'several hundred cases_ of.the disease.

In the- Middle Ages it would have 'taken at least a year for a disease to spread across
such great distances. xplain why diseases seem to spread so much more rapidly.and
itregularly.now than in the Middle Ages.

EpideMics in Europe

ES
0I-Core-1B

(DaledilineS represvni time.
of outbreak)

KEY

OUTBREAK
REPORTED

1st week

2nd week

3rd week

4th week



ES Get a copy of the map labeled, ES-01-Core-2 Trom Our teacher. Suppoie that out-
01-Core-2B breaks.of smallpox were recorded as shown below.

MONTH AND YEAR NEW CITIES AFFEeTED:

January, 1840 Belfast., iverpodt, LondonParis,
Barcelona, and Almeria ,

July, 1840

,

Bergen, Cologne, Zuria, Genoa;
..and MesOna

.

'January, 1841 liga, Warsaw., Dresden; Prague, Vienna,
Belgrade, and,Athens

.4

hOw the spread of the epidemic by drawing a line or beSt fit for eiich .00e of the
dates given in the table \above.

ES

01tore-3B
I. Is a disease that spreads from one person to anotherlikely to spread more
rapidly in a large city or in a rUral area?'
2. Explain your answer. ,

ES A Black Death epidemic occurred -during the .1 4th centtiry.
01-Core-4B I . Could an epidemic of that kind ocTur today?

ES

01-Core-5B

2. Explain your answer.

List two or more conditions thaewould favor the spread (Al an epidemic .across an,. .

entire city.

.01--aore-6B
A doctor has been hired to he.lp t.tte government ot:a he.avily populated country. His
job is to advise_the government a to tile fastest .and most .effective way .1d reduce the
number of epidemics of serious diseases tint sweep the counjry from time to time.
The government can afford only one of the programs.listed below.

a. Building new hospitals so that more sick 'people can be treated
b. Building many low-cost government housing projects to eliminate over-

crowded and .unsanitary living conditions
c. Building new medical schools to train more doctors
d. Developing an improvvd.transportation system so that doctors can travel

morequicKly
I. Which ,one of the prOgrams al?ove do you think the doctor should
recommend?
2. Explain your answ er.

ES

01-Core-7B
Defime what is meant by the term component in a discussiOn of systems.

ES

01-Core-8B
Consider an automobile as a system. List three components of this system.



4.

A ponOthe organisms in it,'and its surroundings are often described as:a system.
'State briefly what a'system is aS.usediti the sentence above,

ES
01-Core-9B

The .diagram below-shows a bird-air system. 'List any three labels which identify . ES,
to G .components bf this system. 01 -Core-1 OB

Heat Solid wastes
4Motion ener y

Bird-Air System .

t)

k

Carbon dioxide

Food

:Oxygen

) .

r

4.
C

There are millions of b.14s in the world. Yet', it is rare t6 see the solid waste-output
of. birds building up on the goulid to .any 'extent. Thi's waste output just seeps to
disappear. If. you think of; a bird and its surroundings as a.system; what possible

explanation is there, for seldom §,eeinI4 large amounts of bird wastes'?"

ES
01-Core-1 1B

, .

An oil lamp flame, can be thought of as one componentyl a system. lhq list below
cludessome things which .are input and iutput of: this component.

a: Air
b. Heat
c. Tune
d. Oil
e. Shadow
f. Light
I _Write the letters of two.things which areinput to the flame.of an oil lamp.
2. Write the letters of-two, things which are output from The flame of.an
oil lamp.

ES
01 -Core-1 2B

What does the 'term prQducer mean as it is used in the followMg sentefice? Willow
trees are producers.

ES
01-Core-13B

,

,1

1
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1

ES .

01-Core-14B
What does' the term consumer mean. as used in thp followirig senferice? Organisms.
such as liotis and zebras are consumers'

ES

01-Core-15B
Certain living things are called decomposers. .Define the word decomposer.

.

41A

Trees
'Deer

Considey the,. environmental systeib 'pictured. below. Identify ekich component in the
following liSt as-a producer, a conspmer:or, a decomposei..

I. Small trees growing in a4woods
2: Deer; whid live in the woods

Bacteria, which feed on dead deer
4. Cottprs, which eat deer

11

tEIS

.1 .
c.)

1 2
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Sbmetimes a person- will throw a.gum wrapper -onto the stree't. A little sheet of'
1 paper:or foil .does not affect the .environment very inuch. Howeve,r, most, cities ha, e

passed laws agailist .littericit. Why do governments pass laws that make a little tl g .

;like this illegal? . . , .

ES

..01-Core-1 78

.
.

;Ms, Jackson is the pliblic relations representative for a new refinery. She explains ,
how tile s'olid,liquid;and gasevs chemical waStes will be treated so that they will be

made I rmless to the environment! In fut, Ms. 4ackson millae a statement tojie,

nress .sayin e refinery. is sO well..44esigned that it will not influence itsr-. O'
.:., , . .

. founding's at,all. r .
, .

.
.

A I; ,

I. Can Ms. Jackson's statement tp the prqss beirue?
2. Expiain youranswer: , c ,, . . .

-,

_ ES.
01-Core-18B

In the fOur cases below, decide whether ttie influence on the underlinecr liVirig organ-
. . - ES :,e4

.

o 1 o

iSnl. is difrect' or indirect. After the number of each case.- write either direct oi:. '01-.Core-199p,

cindirect. .
,.:

I. Pine trees lie' beCause they are cut down for lumber... . ,

2. Crops did b cause an irrigation ditAbis dammed 4 beavers, ,
-

,,. se..4.44*6

3. :Grass grows i front of Mr. Scott sliouse becziuse 'he phted it there.
,

-...

4. All the grass in-a valley'was destroyed when a large he'd olgokits ate t4o
.

.
inuch.o0t. -. % "'"..4 ,.

#

The diagrain bdowAhows Jh food flowthrough a balaneed system in a woods. Pre-
,

diet what might happen if sciu rrels were eliminated from the woods bylarge niers
of squirrel hunters.

*.

-o

Of

ES.

01-Core:20B

A cerfiiin 700-aGre state park has several streams flowing through it. The State.'Road ES

-Departnent has recently ordered tke construction of a large .highway through: the 61-Core-21B

park. Part or the forest end the streain area will have to be destroyed. tive at least
two ways in which the environment probably will be affected by "Pcillution if the

highWay.is built. .

4 < .



ES

01-Core-22B .

e

A Congressman wrote an article stating tha't tilt average person in the United States
has the same effect on the enviropnwnt as 30 persons living in one .of the nonindus-
trial nations of the wed. Explain how this could be true.

ES Select the best answer. Which of the following willaffect the environment?
01-Core-23B . ' a. A sleeping man ..

b. A boy.on a bicycle delivering papers
c. A housewife doinPlishes
d. A girl putting a stack of disItts in the cupboard,
e, All of the above

ES

01-Core-24B

II

Desciribe the input and output of gases in the system formed'by 'living things and the
atmosphere that surroUnds then in the following 'situation. Lush; tropical trees
grow on the South Sea Island on which some shipwrecked sailors made their home.

A

Trees

t,

ES List twp things which ''-are input to and three things which are output from the
()I-Core-25B human body.

ES

01-Core-26B

1

,

The system pictured below is in balance.
. What would happen to t4e fox if the State Parks Department suddenly

decided to eliminate al tall grasses?
2. Explain your answer.

Tall grasses

S.

1

t
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--'0"Your teacher willeobserve you for this check when he can. ES
01-Core-27B

Your teacher will observe you for this check when he can. . ES
01-Core-28B..

Your t.eacher will observe you for this check when he can.

1

ES
01-Core-29B

Your teacher will observe you for this check when hell:an. ES
01-Core-30B

Your teacher will observe you for this check when he can. ES
01-Core-31B

The table below lists the -total number of plants that were gathered by biology stu-
dents during the first thirty days of classes. Get i partialLy labiled grid or an un-

labeled grid 'fioln your teacher. If the grid is unlabeled, draw and label the axes as
shown on the grid belyw. Put a sOtable scale on each axis. Then plot the data. and

draw the line of best fit.

DAVS
-CLASS

()
. .

5 --
10

TOTAL NUM II,ER
OF PLANTS

0.... _ .... .
4

8

15
1 1

20

25

26
_ ....... -

27'

30

U.mummomm mmummummommommomumem m a.
ummummommummummummem i
mommummumememmmummummumwm pm mummmummummonomm mo moms
mummummommiammum Imo
nsmmmmmmmmmmmmmmmmmmm.mimmommummunumummommulammummmmummommuaommommummommommmmumommummilimmummummommummumommommmmmmmomuwsummmummumummumummmmmmosommomumnamm.=mmummummumummitimumumomummommummumumi
OOMMOMOMMOMMOOMOIMMOMMOMO
MOMMOMMINIMMOMMOMEMM OMMIIMMOMMO
MOMMOMIMMOMMINIMOMMO EMMOMMOOMMO

ES
01-Exc 1-1-1B

DAYS IN CLASS

2K1 + .C.tiOct PhSO4 + /1111

(potasSium iodide) (ctoOPffsullate) flead sulfate) (zinc iodide)

t Is it possible iiif"theseactio,0 above.R) take place?

.2. Explain your answer.

rf ES
01-Exc 2-1-1B

4

0
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ES
01-Exc 2-1-2B

a

Assume that the symbol's it), A, and 0 represent different kinds of atOms. After the
number of each term below, draw on your answer sheet the symbol or_gymbols
taken from the equation above which illutrate that term..

1. Element
2: Compound
3. Reactant
.4, Product 4

'EtS
01-Exc 2-1-3B

4.

Ethel is producing.some hydr,ogen gas. The chemical reaction that she is -using to
produce the gas is

Zn 4- MCI ZnCI;) H-)

(zinc). (hydrochloric acid) (zinc chloride) (hydrogen)

Which of; the following actions would not increase the rate at which hydrogen is
produced?

a. Decreasing the concentration of HC1
b. Heating the substances that are reacting *.

c. Increasing the concentration of.Zn
d. Adding a eatalyst

ES
01-Exc 2-1-4B

Wo6d reacts with thg oxygen. in the air in a process that is uSually 'called burning.
However, before the burning starts, the wood must be heated. Explain why this heat-
energy is needed to start the burning process.

ES- Match the letter of each defiMtion 'below
01-Ex.c 2-1-5B itarticle model to whichit applies..

A

Terms
1. Element
2. Compound
3. Product

. 4. Reactant
5. Ion
6. Molecule

with the number of the tuft% from the IV'S

Definitions
a. A particle with either excess

positiVe charge or excess negative
charge

h. A new subptance produced in, a,
t cheinicat.reaction
c. A substance cbntainipg'iwo or

more different kirals'oratoms
d. A subStance2containing only one-

kind of,atom
e. Astarticle'tliat contains equal

itumbers of positive arid negative
charges

F. A Starting.Substance.in a chemkal
reactfon

l

6
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0.
Pete measured .the temperature of two liquids, X and Y. He then mixed the two ES

liquids and measured the temperature again. 01-Exc 2-1-6B

LIQUID TEMPERATURE (in "C)
-

X 20

Y 20
r

X + Y 20 .

Select the statement below that best -des'cribes the relationship between the energy. -
needed to separate the reactant particles and the. enagy released when those partieles
recombine to form products in the chemical reaction.

a. The heat needed to separate the reactant particles is greater thiln the heat
feleased when those particles recombine to form products.

h. 'flw heat needed to seParate the reactant particles ig ress than the.heat re-

leased wtien tliost.!.particles recombine to form products.
c. The heat needed to separate the reactot particles is equal to the heat re-

leased when those particles recombine to form products.
d. From the information given, you .cannot tell which energy is greater.'

Men in a ranchers' association havApoken with a legislator about the problem of
rabbits eatihg so much grass on their ranches that the cattle are underfed. They want
a bounty on rabbits to encourage people to shoot them. Their argument is that the
rabbits don't do anyone any good and that killing them would prOvide more grass
for cattle grazing. What information should the legislator try to get to help him

make a decision? ,

ES
01-Exc 2-2-1B

.41

-

lk

.-N

4
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V.

Define the term pioeheinieal oxygen demand. ES
02-Core-1B

4.

Robert measured the number ot microbrganisms in samples taken from a poti'd twice

a day- for.a week. A graph of his data is-shown

Which of the graphs
iCroort\an isms?

Graph c.

ow

,
, 2
z
(7)z<w
w
cc>_

xz

.

1101111111111111111111111fil 1111.111111
41.111P1111111111111M1111111111111111
IIMOINIIIIIIN11111111111111111111101111111
1111111111611:MININI11110111111111111111111
11111111111111V;VMMUINIIIIIIIM1011111

suummummorgismumminammusrairomm
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111111111111111111101111111111111111111L..

2 3 '4 5
TIME (in days)

7
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111111111M11111112111111
11111111111111111N111M1
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1111111MINIMIIIIIII
Uleall111111110111=1111
211111111211U1111111111111111
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7

11111111111111111111111110111111
MOIS291011M11111111
11111111MMIIIMILI
11110110111111111
11111111111011111101111
111111111111111111111011111

0 1 2 3 4 5

TIME (in days)

this populatkm 01;

Graph b.

O

oLT,,zo
(71<w
w
cc>_

x

Graph d.
0-z

ow
<

zo
(7)z
L1419i

0

111.111111111110111111111111111111111

11111111111111111111111111111111111E
111011111=111111111
iiiiim7.2.1!!!!!!11111111111111
1111111111M11111111111Miai
11111101111111111111111111111
111111111111111111111111111111
1111111111111101

0 1 2' 3 4 5 a -7
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ill111111111111111111111111111111
.11111111111111111111111111
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ES
02-Core-2B

1 8
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ES
02-Core-36

Larry and Frank measiired the amount-of time it took for the blue color to disappear
from test tubes containing yeast tind milk. Larry claimed*that the color change wa
caused by the action of the milk. Frank said that it was the action of the.yeast

sand the milk together that caused the change. Describe an activity you could do to
determine who is coirect.

ES
02-Coie-4B

Select the graph that best' shows how the oxygen demand a a population of mro-
organisms changes with an unlimited food supply.

Graph a.
t.

Graph b.
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Gordon 'nit 5 yeast organisms into a large test tube full of warm milk. Under those'
conditions, it takes 15 minutes for each yeast organism to dividein twO and iziecome

twoteast organisms. Predict the number of yeast -organisms that Will be in his test
tubAfter 11/2. hours. -

ps
02-Core-5B

Ed has put a few microorganisms into a bowl ot
. egg white. There is lmough egg white .

and oxygen available to support a v,ery large population of the Microorganisms. Select
the graph below that best sho*s how the size of the microorganism population will

change over the next fejiihours.

4
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ES

0-2-Core-7B..,
Sparkle .Lake is. surrounded by au, apartment complex from which sewage is allOwed
to flow directly. into .tho lake. One siving an apartment resident noticed that certain
kinds of fish no longer lived in Sparkle Lake. ,The most probable reason is that- the fish ate the sewage and died.

.
. b. the Water contains too little oxygen.

.

c. the fumes frOm the.sewage poisoned the fish.
d. the fish beeame diseased froin the sewage.

ES /01*
02-Core-8B

Explain a capse of the oxygen death of a lakv or stream: ./
ES . Sewage from local cottages has seeped into Dreary. Pond: Ills nOw filiekwith
02-Core-9B vompo,sers. An organization in the nearby town says that deci!omposers have causetl

.the pond to die. The group wants to spray the pond to' get rid of all the. decomposers.
Is this a good solution. to the problem?

2. If so, explain why it is good. If opt, suggest a better solution-and explain
why it iSbetter.

:,.1

ES ;

02-Core-10B
Debbie surveyed .thenumber.of fish living in different parts of a slow-moving stream
on the outskirts.of town. She drew the diagram mid table shown below.

Sewage outlet

Region A
Region B

'Region C Region D

REGION
OF. STREAM

NUMBER
OF FISH

many fiSh
many fish
some fish

feW fish
no fish

1/2 mile

Region E

Use what you havelkarned about the needs offish and the decomposition of sewage
to explain Debbio's Observations.

...

't



k
It has been report0 to the city councils of. seve I cities Which draw water from a ES

Reaxby river that the methods they do s to purify th.eir drinking watex are no 02-COre-11B

longer good enough. Therefore, these cities are. b ding new water purification
plants that use more effective methods to get:the er."clean" enough for human
use. Explain Why the older, simpler methods.of w.a pulification no longer work:

.ro brighted.up the laundry room in her -home, Mrs. Terabian.deeided to raise flowers . ES .

ardund the room, She bought seeds and planted them in pots. After several weeks, 02-Core-12B

she noticed that those pots netir the laundry tub where drainage water bften splashed
had put up fewer seedlings than tlie other pots. Those .sek!dlings looked less healthy
than the other plants. What is probably the cause of these 'differences?

Mr. Wilson's daSs decided to inwstigate Ole" effect of .delergent on the germination ES

rate of some seedZ. Iliclass used pea, bean, cucumber, and .coni seedsI>\ Based on d2-Core13B
your work with radishes, select the best prediction below that, you can make

(
abont

t.ire, results of their ictiVhi'.* .

fa. I can't predict hosr the activities will turn, out because detergent affects.
only root crops. stch as radishe's, beets, turnips, and.carrots.

b. All of the seeds will have a loWer rate of germination, just like my radish
seeds.

c. I think that the ektergetot will cause a lower germination rate, but I am not
. sure OecaUse I tested only radishseeds.
d. I have lio basis fen predifting how the eletergent will affect other set(k. .

e. None' of these seeds will show zi lowergermination rate becau* the deter-
gent ziffects.only radish seeds.

(;roweN often spray their crops with insecticides to try to destroy the harmful in-
sects. Fx periments with some orthese insecticides show that they winain in the' soil
for several years. Describe an ictivity that you could do to determine whether the
insecticide DC-408 will affect the germination of lettuce seeds.

ES
02-Core-14B

Animal manure is biodegradable. What does binthWadable mean? ES
02-Core-15B

The Ace' Chemical Company is locatednear a lake'. It has begun to dump biode-
gradable chmieals into the lake is part of its waSte disposml system. Oxygen
measurement s have been !pack' in the lakt for the past year and a rapid decrease' has
been noticed in the amount..of dissolved oXygen. Explain how the biodegradable

A A
chemicak vadcauselthex.;.ipid ,klecrease of uissoiveu oxygen in .the

ES
02-Core-1613

A

-



ES The fact that a product is biodegradableis :not a gUarantee that it will not-pollute a
02-Corei17B . stream.' WhiCh of the following best st4tes how a biodegradableubstanee can cause.

. .pollution? ... ,4

.
.

a. It may. be .a food source for organisms in streams which. Will, in turn,.be-
come overpopulated..

. .

.

b. 'It will not be a food souxce for organisms, thereby decreasing the organisms'

. ... population: . .
. .

.

Tc. It can decompor waste produCts "of. the plants and animals in. the water.
..' d. It will accuCulle in the water..

A

1
- ES . Consider the following situation.

02-Core-18B . Ron McElroy, Ai citrus. grower, sprays nonbiodegradable pe.sticides ofi his orange
--trees. Sitce lut-Only''spraY's when there is no breeze, hliskiys that the wildlife in and

around a pond down the hill iS not affected by his spraying.
I . Is Ron correct?
2. Defend youl-answer.

ES

02-Core-19B

I . State,the terin twit for the system shown above,h;
2. Explair what the' arrow between the grass amrthe deer in the diagram
means.

e .

ES -c6.tain factory puts large quantities of a nonbiodegradable aste.into a river. A
02 Core-208 chemkt tested the water several miies downstreanr front the factory and-found that

.

the river waler. contained less of this themiCal. State two reasom which accopnt for
'the thsappearance of some of this cnewical from the water.



_

The diagam below shows four orgimisms in part Of a-food chain in a saltwater lake
and .its surroundings. The ls been polkaed With NTA,.a nonbiodegtadable
'chemical that accumulates in tht body of living organisms.

. .

-1...1n which type of organism would you expect go find the highest concentra-
tion.of.NTA?
2..1n which e of' organism would you expect to find the lowest concentra-

.
tion of NT

ES '
02-Core-21B

Plankton Minnow. Bass Bird

Some widely used detergents can be decomposed by living organisms ani.l'are a huge
source of food for them. The pophlation of these organisms:increases so greatly that
their .waste .products become serivus' pollutanis: Other detergents'which 'are not
easily .decomposed can accumulate and kill,organisms. What would be the character-
istics of the ideal detergent?:

ES
02-Core-22B

Take your Record Book to 'your teacher. `Your task is either tO defend.your written ES
response to Problem Break 4-4 or 4-5 or to make a satisfactory change in any part.of 02-Core-23B

it that your teacher questions.

._
Hydrogen peroxide; Which can be purchased at a drugstore, is often Put on cuts to ES

kill-germs. It .undergoes a reaction in storage -which'gradually destroys.it. The bot- 02-Core=24B.

Ile always says that d should..,be stored in, a. cool place to preserve the hydrogen
peroxide in the. sokition. Explain why storing the bottle in. a warm cupboard- would
weaken the solution more than storing it in a cool 'place.

.1

.Stacy measured the-body temperatures of three different animals. She then changed ES .

the .temperature of their .surroundings, waited two hour, and measured their body 02-Core-25B
temperatures again. Her data, are shown below.

,

. Indicate whether each animal is watni-blooded- or cold-blooded.

TEMPERA:WM: OF .

SURROUND1NQS (in 'C)
BODY. TEM-PE RATURE1 in ().

AnimaH
,
Acimal 2 Anima1.3

25

. 10

26
11

26
.26

30 s'

. 30



ES I.n .the body-of a. lizard, chemical reactions occur which release energy tO4he
.02-Core-26B . Lizards. are cold-hlooded animals. They move very slowly in cold weather,.but in .

hot weather they are very quick. Use whit you haye learned to exPlain why this is so..

ES

.02-Core-278
Define the term thermal death point..

-ES One hot summer day, Glenn decided,to take some of his aquarium fiSh and give. them
02-Core28B to his frend Roy. lie pul the fish and some Of the aquaribm waier into -a plastic bag.

He' knew there was enough.oxygoi in the bag to keep the fisCalive for five to six
!tours. On the ,waY to Roy?s hguse. ITe stopped at d sh-oppipg cente'r When he re-

, turned .to, his car and 'unfockvd it about an hour later, he found that all:the-fish had
died. Explain what might have caused the fish to die.

ES Heather stocked her aquarium with gizzard shad and green fish. Both fish have nearly
02-Core-29B -the same preferred temperature range. One morning she woke up to find that. all .

the green fish had died. The thermostat on theaquarium heater had stuck, and by
morning the water was quite warm, Explain why one kind of fish died, but the other
did not.

,ES There have been many inxcts!killed by pesticides in 11/11. Mauney's Orchard. Usually,,
02-.Core-30B however. only certain kinZS of insects are Oiled. rxplain why only certain kinds of

insects die rathel- than all the insects in the area.

ES Albert "went fishing during. May. lie caught a lot of.northern pike by fishing the
02-Core-31B weed beds in shallo* Water iwar the shorerin July he tried the same spots and had

no. luck there; but he found that pike were being caught in areas wherethe lake was
deeper. Select 'the most likely reason beloW for this.

The warmer surface waters were more dense, so the fish swam deeper to
find an..area where the pressure was less.

b. The surface water.had warmed up, so the fish swam deeper until they found
water in their preferred temperature range.
The pike had been in theweed beds in May because they were looking for
food.

d. pike were in the shallow water in May because they need More oxyqn
'JO .at the beginning of summey thaniAidsummer.

ES Trout are a ,type of fish that suryive best in water which contains large amounts of
02-C9re:32B dissolved oxygen.

. Are trout more likely to live in cold water or warm water?,
2. FxpLin the Teason for 'your answer..

lv

...
25 . '
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02-Core:35B

. Graph a.'
. . .
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Grace wants to determine how fast brine,shriMp, whiCh are cokl-bl.o..c;ded:use. oxygen.,
She 'measures the rate of oxygen consumption af different tepperatureS. Select ttie
graph below that bestshOws'how yOu would exPect the rate of oXygen corisumption
todepend on iemperature.
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lief* the term thermal polluihm.

*o.
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'

Which of the following is hot a fesUlt.of thermal pollution? ,..

a. Some fish, mArbe driven away:because the water temperatureis no longer
.: . . ..,

, within their prelefre4'tempeiaturerange. . ..

b.. The amount of Oxygen that can be dissolved,in the water decreases,
c. The rate at 'Which Sewage is decomposed by microbes living ih 'the water is

. increased.. .
d.,Some fish may be killed because the water. temperature is above their

thermal death point.
e. The 'biotethical oxygen demand of living organisms decrease's.

a

S
02-Core-37B

During July, a power company in a large city, received permissioin. to.telease water
4°C. higher than nsual to take'care of the increased use V air conditioners. Supporters
of this measure said' that it was perfectly all right because the thermal pollution
would be permitted for only the fairly, short period of four weeks and 'no lon*r. .

F. Is this sensible reasoning?.
' 2. Explain your.answer.

.ES'
02-Core-38B'

a s

Parts of Montana han the same amount oj precipitation as part*of Utah. However,
the vegetation is not the same in these,yivo areas. These parts of Utah have areas of
grass. _But 'areas, of similar precipitatidn in MOntana are forests. List th'ree factors'

. which could explain these diffeifences in vegetation in areas which have the same,
s) '*-amount of precipitation.

ES
02-Exc 3-1-1B

, ,

During the past feWyears, several disPutes have arisen betweedMexico and, the.U.S.
about water rights in rivers that flow from one country_to the other. One dispute
concerned water availa,blefor irrigation on both sides of the borden .

I. Why woren't there as many Arguments hbout the watv flow thOy-years
ago?
2. Explain why some people think ,that these disputes libiVut the watefflow
will continue and Come even More ..eriOus in the ruture.

ES
02-Exc 3-1,-2B.

1 l

The rate at which tftes lose waK!r to the atmosphere i about Uventy times greater -ES ._

than grass. Both, trees and grass are used to prevent soil eros on. ..,A hilly- area around?' , 02-Exc 3-1-3B

a new 'school is)to be slanted, but the amount of wAter in t le ground is slightlY 1(4."
I. As a concerned citizen of this new community, would you recommend

. plant ing trees only, grass only, or both' tremand 'grass?
2. Explain your a9swer. .,

.

L a .

Start witt component number.. 2 belovtt. , Arrange the other components by number
into the system known as a wate'r cycle to show the order in: whidi they occur.

'I. Precipitation',
2. Water flowing ill a stream .

,
. 3. Efaporat ion

4. Water runoff from a hill;ide <, ..,, .

,
,

.
. ...

28

ES
02-Ext 3-1 -4B
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,z

,

'E$c. . Grace is preparing to catry out an. experiMent Jan the growth of corn. She needs to
02-Er4-1.11B ,..cfefilie plant growth operationally. Give two operational definitions for plant grovt)ths.

In other words, state iwo ways to de.tect and to measure the growth of Graft's .,

plants.

ES Some 'persons have proposed that plants grow beiter when They recOve affection *s
02-Exc 4-1-2B from the grower. Describe an experiment that.you could do..to investigate ivhether

love' affectstheirate of germination and'the growth of the seeds whicli,germinate. Be

, sure. to state 4ieh variables should be held constatit and which shóuld,vary.

st .11

alb
,

,
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Robert Boyd says mat he doeSn't contribute- to thekair p011ution problem. He has ES

given up smoking, has sold his 'car, and riOw walks to work. :03-Core-1B.

1..ls Robertporrect in assuming that he doesn't bontribute to the air pollution
pr'oblem?
2. Explain your answer:

A manufacturing plant in Grubsville has always been considered a majoi source of 'air ES

Tollutionbecause 'of the. black soot coining from its smokestack. Recently a filtering 03-Core-2B

. system Was installed that colleCts. the SOlid particles 'lig they travel up the smokestack.
.1.. Now the sky above the'stack is always- clear°

,

1. Does this factory no longercbutribute.to air pollution'? ,
2. Explain your answA.

. ...
v lh Chapter 6, you \Ise(' a piece of sticky, tape to sttidy:,solid-particle air poltttion. ES

.Write an oPeratjonal definition for sWid-partiele Car pollution, using the sticky-tape . 03-Core-3B
,

method.

Considor the sik okars and trucks, electrical power plants, major fires, industrial ES

plants, and refuse umps. How do you exptalnthe fact that cars and trucks, which 03-Core-4B

individually are so slim 11, produce the greatest amotint of pollution as 4iown below?

CARS AND TRUCKS

ELECTRICAL PI:ME R PLAOS

MAJOR.FIRES

-INDUSTRIAL PLANTS

RE,FUSE DUMPS

XI XV &WV

&
I I I

50 75 100

POLLUTATS (in billions of kg)

The substances listed belOw are products of combustion. Which one is noticonsidered
to be a major pollutant?

a. Carbon monoxide
b. Root
c. Carbon dioxide
d. Sullyr oxide
e. Unburned hydOcarbons

, ES

03-Core5B



-ES

03-Core-6B
Seleet the answer that byst indicates the possible effects of air Polhition.

a. Increases some human diseases
b.' Increases the rate of deterioration of steel
c. Damages crops .

d. Damages clothes
. e..All of these

es,

ES

,03-Core-7B
Chris: Forcing an:industry to remove the pollutants from its Output ineans

it ha's to buy expensive equipment.
Paula: Yes, but not removing the pollutants is also expensive.
Chri: What? How can not spending. money to remoVe pollutants cost

money? t

your answer sheet, write a good response for Paula. Include at least two examples
pf how releasing pollutants can be expensive.

ES

03-Core-BB,

.
Mr. DeVoto is very concerned about the extent °Tithe ever-increasing air pollution
in the 'city where he !hies. Tit! decides to move to 'the country to escape all the air

. .

psollution. .

4

I . Will he escape air pollution by moving to the country?
2. Vxplain your ansWer.

f"4C %**`-"ftot,.)+AgX Which of the following graphs shows t ligreatest population explosion?
03-Core-9B

Graph a.

Graph e.

z
z o
(7)

LI :5
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Vera raises mice In the garage.. Over the years, the mouse Population has grown con-
siderably.. Her mother has laid down the lit,w.! It' her mice populalion gets any larger,
she will make her get rid'ofill her mice.

1
'

By answering the questions below, show how births must be related to deaths to
keep the. Population constant. .Assume that no -mice .are sold, are given away,. or.

escape. .

I. How many deathsbust there be in 1975 to result in a constant population?
2. How many births xan there,be in 1976 to result in a constant population?

YE/V 1972. 1973 1974 1975 1976

Population. at
end of year

45 93 151 151 15 1

'Births ' 38 '72 1.102 114. ?, -
_

Deaths I 28 49 .1? '. 44
.

ES

03-Core-ICS

Troy kept a culture or fruit flies for several months. He added the same aMount'of
',food each day. Every week he countefl the number ofljve flies. Then he drew the
graph shown below. At what point,in time is the number of,sleaths in the population
equal to the number of births?
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ES'

03-Cofe-11B
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ES

03-Core-12B

Graph a.

Graph C.

Whidl graph below-best indic les how populations of plants and animals change' with
time?
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ES

03-Core-13B

.
State four variables that coukl limit the size of a nonhuman population.

4.1

ES

03-Core-14B

;.

Until about 1650, the earth's,human population increawd very slOwty. What vari-
ables, if any, has man learned to control or change that have alloWed the human Pop-
ulation to increase so rapidly since 1650?

ES

.03-Core-15B
Take your Record Book to your teacher. Your task is either to 'defend your writt9n
respimselo Problem Break 8,1. or Problem Break 8-3 or to make a satisfactory chanie
in any part ofit that your teacher questions.

ES

03-Core-16B
Take your Record Ildok to your teacher. Vow task iseither to defend your Written
response to Problem Break 8-2 or to make a s'atisfactory change in any part of it that
Our teacher questions,.



N,t1

1.

Consider the following infotmation aboitt the world'sTopulation.
Present world human population = 3,724,000,000

. Birthrate = 348,000 per day. %
Death rate 16:7,000 per day

Assuming that the birthrate and, the. death rate stay constant, how many days will it
'take foehe-world's population to reach 3,726,000,000?, 'Show your calculations.

ES

03-Core-17B

Bikthrate 311,000
(per day) (high)

Death rate 138,200
(per day)

;
(low)

The current world birthrate and death rate are shown Ave. This situation must
change if the population is 4o stor increasing. 'Shown below are two.possible con-,
ditions which would result in a constant population.

,

J4

CONDITION I (1014DITION II
.

Birthrate. . 311,000 138,200
(per day') (high) '-

Death rate 311,000 138,200
(per day) . (lovi) '

.1..Which would he more desirable Condition I, which hasan increased
death rare, or Condition II, which has a decreased birthrate?.
2:1Explain the reasoNr lor your answer.

.

ES

03-Core-1BB

tt

Describe how a temperature inversion is related to an increaseIn the, air, pollutiop at . ES

the earth's stirfaCe. 03-Exc 6-1-1B

State a major- (.:ause of tremperature inversions. ES

.03-Exc 6-1-2B.



ES .
03-Exc

Graph 4.

t-5 20

6 -10

. CC,
L13
cL, 0

10

Graph C.

1. Which graph below shows the normal,way temperature changes as altitude
increases?,
2. Which graph below- shows the way the tempeiature changes with altitude
during a- temperature inversion?
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ES
03-Exc 7-1-1B

Which of the following va-riables directly influence the size of the population in any
country? .

a. The amount of available food
b. The number of libraries
c. 'The number oi redheads
d. The immigration rate .

e..The number of 'cars

-,
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.
Denise waS doing a population studY of fish (bass)-:' She..used threediff nt.setsiaf ES

.vxperimental conditions, as shown below. . 403-Exc 7-1-2A

EXPERIMENTAL..
cokDITION

FOOD SUPPLY. 1

,

EMI6RATION

-,.

I : unlitnited
-

not alloWed

limited ' , - -
not allowed

L
I'll

.

limited allowed

Four possible experimental results for each of theSe experiments are, showtr below,

-

EXPERIMENTAL
RESU.LT

BIRTHRATE vs DEATH RATE.

.

...'a

.

.

lower birthrate and equally low
death rate , , . -

., ..,
,.,. ,.

.
.-

,.
lower birthiateand &higher.
death rate

,
.
. .

higher birthrate than death rate

.. a high birthratewhich :is equalled
by the deathrate , .

,111ased on. the results of- Dr, Emlenexperiments With-mice, which of the
' experimental results (a, b, c, or d) shOwn abOve would yOu predict Denise .

Will get for.exPeriment 1?
2.,,For.ekperiment 11?
3. For experiment III?

Q.

Suppose that the following two planets have been discovered...i
03-Exc 7-2-1B

.

ES

PLANET'

--,.

TEMPERA:11.4E
RANGECin °C)

ATMOSPHERIC :..

COMPOSMON -..:.t.'

Wayout

Outasite

-75 to. 55 .,

-90 io -15

hydrogen and nitrogen
.

oxygen and nitrogen

1. Would. of these, planets be suitable for human: habitation without
. .

supportequipment?
2: Explain the reasons 'for-your answer.

:+1 "'"

. .

,

,
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. ES

z

Each Of the. rolls below was drawn for .the. population .of a .different country.
03-txd7-3-.1B Match the appropriate graph to,the approximate average faMily size in that countrY.'

Assume that no CU* in the lile span of the individual occurred between1870 and
197(r '

Famiyjze
1. The aVerage family htad fewer:
than twci chqdren.,.
2. The*,Opragelainily had exactly
two children!,

Graph a.
.

,

I

3. The average/may had mOr.e
than two children. .

Population Curve
,

Grapht),: Graph c,

Ui
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ES . . The solid line On the graph below-shows b6w.human life expectancy has changed in,..,
, 03-Exc 7-3-2B. K ..I he- U.S.. since 1920.; .The dotted lipe shows one prediction of how it .will.shangc

dutlittg the next twenty years.
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The graph be oW.shOws how life expectancy has changed since .1200 A.D.
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ES
. 03-Exc 7-3-3B

. '

Rex-works on an auiOmobile assembly line. When he
. flips on his .TV, mini:the relluite control'swith. Th

,whe-n.he tufned the,set .off the night before. lie..notices
to turn:the voltphe up. But after several hours it sounc

turn the votume down again. Explain what might be =Ain
Rex's heaiing..':

eturns home, he. immediatel);
sound:level is the -same .as

lilt to heari at first, he
'too loud, so he must

th.is daily change in

,

"I.

ES.

01Exc 8-1-14 .
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ES

03-Exc 8-1-2B
Delores wanied to- 'measure.. hOw -people'S liearini Changed with age. She measured ..

G. .

the hearing Index-of .a number of people.... She operationally. defined hearingindgx
as the decibel level of the quietest sound that the person 'could heir. Which of- tly

, graphsb.elow shoWs how the hearingindex, as. Delores defined it, usually changes.With.,..
age?

.,..

Graph,a.
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,People think of a
$

Ali ce and 'a a srtem. Define the term systcal. INB
4 01!Core-1B. .

The boiler syste

'1%

'Me heat is turned on under a steam boiler. .Steam builds up inside the boiler to a
preset pressure. The pressure gauge senses that t,he preset.pteAure has been reached
.aRd turns.off the :hea't swiich. When .the pressure inside the boiler has dropped,. the

. pressure gauge turns on the:heat switch to increase the pressure again.
Name the stimuli and responses that make this a negative feedback system,

2. Exptain'how thd, operate to make this a negative feedback system.

diagramed helow can be thought of.as a system

Pressure gauge

Steam

Baer

CD

AMIIIIIIIk

0

0 .

0

000 000 0
7rivfkovw4mr,
01ffillffidffikid

Wire

Switch

01-Core-2B

Kim measured the temperature inside an incubator used to keep eggs warm before WB
. i

they hatch. She plotted the temperatures recorded ih the incubator on the grid 01-Core-3B

sitilown.below.

37

- 36

35
ec

Fr 34

cc 33
eL
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*31
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Ummirnimmimmummwsminommismwsivalimm
MOOMOMOOMOMOMOOMMOMMMMMOMMOOOMMMOOMOOMOOMMOMMEMOOMOMOME

90

At what temperature (get point) is the thermogtAt set to control the temperature of
!, the incuhator? ,

fs;



WB

01-Core-4B
A thermostat is used to regulate the tempeyture ipside a refrigerator. The diagram
below shows how the refrigerator-thermostat system works.

Thermostat
sends, message
to turn
refrigerator off

Write the letter of the graph that best shows how the temperature changes inside a
. Ucised refrigerator.

Graph a.

W
CC

21
(7)5<"-
WW
CeCt-
o 2
z LU

- Graph C.

.
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WB

01-Core-5P kfnagine
that the thermostat that controls the temperature in an apartment gets

broken in February:
I . Prediot one thing that might happen to the temperature of the apartment

. if this occurred.
2. Explain Why it would happen.'

. 4 2



The formula 'used to calculate the amount 0,1 heat needed to change the temperature
of water is

, 01;Core-6B

calories =`Thass (grams) of water X change in temperature (°C).

How many calories of heat are required to raise the temperatkire of .540 grams of
water from 25°C to 37°C? Show your calculations. .
Operationally define calorie.' . 'WEI,

A ()I-Core-7B

How many calorieS equal I Calorie? WB
01Core-8B

Select the statement that best indicates what happens in the body to the energrin
food which has been eaten.

a. Most of the energy is used in doing work"; the rest is used to keep the body
at the correct temperature.

b. The energy is either used to do work or stored as fat that can be used as
an energy source between meals.

c. All of the energy is used to keep the body at a constant temperature.
11. Some of the energy is used to keep the body warm; and the rest is used to

... do work.
e: The energy is used to keep the body temperature- constant and to do work;

. any that is left over is stored as lat.

WB

01-Core-9B

.

. Cheryl wants to lose some weight without taking drugs. What are tWo different ways WB

. she can do this? 01-Core-10B

a

In

Steve wants to gain 10 pounds for the football season.. Ile has adjusted his diet soil WB

that his food energy-input is 3,800 Calories per day. His body required 3,100 Cal-
ories each daY tor temperature control and for the exercise he,does. How long will

it take him togain 10 pounds? Show allyour'calculations. (Note: A pound of body
fat represents about3,500 Calories of stored energy.)

Doctors nsually advise. patients Who are trying to lose weight to eat a variety of dif- W8

ferent foods. Foods which are often suggested are leafy vegetables, meats, yellow 01-Core-12B

vegetables, and freiit. .kihy. do doctor§ sitess eating many different kinds of food, as -
I

wellas decreasing the total food intake?'

Your teacher will obgerve you for this theck when he can. WB

01-Core-13B .



WB
01-Core-14B

Your teacher will observe you .for this cheek when he can.

WB

01-Core-16B
Ypur teacher will observe outor this check When he can:

,

WO Your teacher Will qbserve you for this.check. when he can.
4.../, kV Se, - a - ,44., . vr -3,214' t J. If.1..r 1:44. ;Tr..,. r I

WB

01-Core-17B

Your tuacher will observe you for:this check when he can.

01-Exc 1-1-1B

Which of the following is used to measure units of heat energy?
a. liter
b. temperature
c. newton
d. degree
e. calorie

WB In Excursion I-I , you- found that a single' burning peanut gave off more heat than
01-Exc 1-1-2B five.burning marshmallows. Seleet the best possible conclusion that youxould draw

frOm this.fictivity.
'All foods contain different amounts of heat energy.

foods give off the same amount of heat energy..When. they are burned.
c. Other foods probably give off differing amounts of heat energy when.

burned, but I cannot be sure because I tested only peanuts and mars4-
mallows.

d. I cannot predict, whether all foods give off different amounts, of heat
' energy when burned because I tested only marslunallows and peanuts.

TWB . During an activity, Orsen determined that a burning bean released 8,540 oloties.
01-Ekcil-1-3B How many Calories is this?

WB

01-Exc 1-2-1B
Suppose you were trying to reduce the ,numberof Calories you consume.. Whi.ch
one of the following foods would it probably be beAt for you to avoid?:

a. Tuna fish, which is rith in proteMS
b. Baked potatoes, which are mostly starch
c. Pecan pie, which contains a lot of fats

ati



I. Squash may bc prepared in several 'ways. Which method of preparation WB

gives you the largest number of Calories? 01-Exc 1-2-2B

a. Boiled squash .

b. Baked squash
c. Fried squash
d. No difference

2. Explain your answer.
,,,;;;;,,- s; ft: .7-4- niP.,-;;.:1, A:- . ;.:.- ' '4%! '":.es t

Mrs. Winters said her doctor put her on a well-balanced diet. ,

I. Does that mean only that she is counting Calories?
2. Explain your answer.

.,WB

01-Exc 1-2-3B

Lori has kept track of the amouht of time she spent doing various activities. Part of WB

her activity chart is shown below. What is the total number of Calories.she used 01-Exc 1-3-1B

doing those activities? Show your w.brk.

ACTIVITY TIME
(in hoUrs)

CALORIES. USED
(per pound of body
weight per hour)

BODY WEIGHT
.

(in pounds).

Running 1 3.3 140

Sitting quietly 9 0.2 140

7 15 °

N

\



Recently you tested the effect of a solution on the germination of corn seeds. You . WB

were asked to use a control. Why is it necessary to use a control when doing such 02-Core- B
activities?

Name three different chemicals pr types of chemicals found in cigarette smoke. WB
02-Core-2B

"" .

The diagrams below Show rthe Opitheslial tisime TrOin the windpiPeS of thiee differemil WET'

people. One peyson is a heavy smoker, one smokes -a modetate amount,.and One is a 02-Core-3B
nonsmoker. Match the letters of the proper diagramsAbelow with the'Rumb6f;orthe
labels: .

Types of Smokers

T-

I,. Heavy smoker
2. Moderate smoker
3. Nonsimiker -

Diagram a.

Diagram I!).

Digrarn

,Diagrams of Tissue

Goblet cells

Goblet cell: Cilia

:"

Ciliated
cells

"406

..... . Basal cells

...

46,



40.

B
02-tore-4B

Which of the following is not an effect that smoking has on the body?
a. It decreases the heartbeat tate. .

b. It reduces the number and activity of the cilia in the epithelium of the
windpipe.

c. It increases the mucus and the chances of having a coUgh or otheetespira-
tory problems.

d. It increases the breathing rate.
C. It causes a loss in the control of cell-production in the epithelium.

WB
02-Core-5B

During the month of July, Jeff kept track of all the lemonade that was sold at camp
and ,the number of campers who caught colds. As the weeks passed, more of -the,
campers drank lemonade and more of them had colds.

I. Po these data prove that drinking lemonade increased the campers' chances
of catching colds?
'2. Explain your answer.

WB
02-Core-6B

The following statements refer to the death rate among people who smoke. Indicate
which of these statements is not correct. ,

-a. The death rate from bronchitis and-emphysema is higher for smokers than
for nonsmokers.

b. The death rate for people who smoke fewer cigarettes a day is lower than
the rate for those who smoke many.

c. People who smoke are more likely to die of lung cancer than nonsmokers.
d. Th L! death rate for peOple who stop smoking is just as high as the death

rate for those who keep smoking.

WB
02-Core-713

There are many persons MI6 have a physical dependence on alcohol. GiveAm opera-
tional definition for physical dependence.

WB
02-Core-8B

Give an operational definition of psychological dependence.

WB In.each of the following situations
02-Core-9B (a) \indicate whether the person described is physically or psychologically.

dependent On the drug and
(b) eplain youir answer.

Situation I.\ Terry began to have a cup of tea after lunch every day. He sLaid he
e\njoyed it, and it helped him relax before going back to work. Now
ht. drinks several cups during the afternoon. He says that he reaches

6 forthis tea.cup'whenever he gets anxious or has nothing to do.
Sitpation 2. Kei was given medication for stomach pains. While he was taking

this .dicine, he was not bothered ,by the. pain. Then his doctor
foun that his stomach pains were caused by an allergy to milk. lie
elinu ited vilk from his diet and stopped taking the medication. He

4 foun his pain was.Much worse than before unless he took the medi-
cine d y.



ii
Mrs. Smith is pregnant. Her doctor advised her to stop using antibiotics to control a WB

sinus congestion until after her baby is born./ Explain why the doctor is concerned 02-Core-10B .-
..

about the drugs Mrs. Smith takes while she is pregnant,

,

Terry took a drug that affected his sleeping habits.'" in Sil-iel'Wofds, the drtti,keptt, . WB,

him from feeling sleepy for 24 hours. Diagrain and label a possible-negative feedback ''02!Corel 1B
;

system that might no longer be workipg, because of this drug,

Name two different ways that me,sages are Sent in the human body. WB
02-Core-12B

People.use the terms diug use and drug abuse. Explaii; the difference between dru WB

use and drug abuse. 02-Core-13B

The parts listed below are found in many plants and animals. Arrange these parts in
order from the simplest,part to the moSt complex.

I. Organ
2. Cell
J. Organ system,

Tissue

\

,

WB
02-Exc 2-1-1B

Most plants and animals are composed of many different kinds 'of cells instead of just , WB

one kind of cell. Why is this itecessary? 02-7c 2-1-2B
,

State three advantages of an interview over a written questionnaire.. . WB
2-Exc 2-2-1B

Professional interviewers.are trained- to be certan when conductillg a series of inter- WB'

views ki ask exactly the same quAtions in exactl the same tone of voice. Why is it -0-,Exc 2-2-2B
;necessary to train an interviewer to be able to do this?

Much fesearch is carried out using written questionnaires rather than personal inter-
views. despite the advantages of an interview. What are several advantages of uSing.a
written questionnaire?k,

WB
02-Exc 2-2-3B

o.

. 4 8 1



WEI

02.:Exc 2-2-4B
Harty wanted to do a survy:A),dietermine student attitudes toward cigarette smoking..
Th e-first part of his questio aire is shoWn below.

SURVEY' OF STUbENT ATTITUDES TOWARDS CIGARVTE SMOKINO
1. Whatis your name?
2. What is your age?

.1 5-9
[ .1 11-15ri -"1.5-yean oid"or older- ..

dit

3. You don't smoke cigarettes, di) you?
[ 1 yes
[ 1-. no

4. Do you think that people who smoke cigarettes are very bad?
[ I yes
[ 1 no

Improve this questionnaire by rewriting it and making at least three changes.

WB
02-Exc 2-3-1B

The diagram below represents the human circulatory system,.
1. Name the organs indicated,by letters A and B.

2. Name the kinds of blood vessels indicated 'bytletters C, D, and E.



.

The diagram below represents the human circulatory system. Indicate the path that WB
blood flows through the body by listing, in order, the letters that corresPond to the 02-Exc 2-3-2B

. yarious parts. Start and finish with the part labeled D.

in. Ailey".0. Irr,, r diSip

IN: II.

Stale two things red biood cells do which niake them so important to tbe functibiiing

of the body..

- .

1 4e.

,71Z.; -

WB
02-Exc 2-3-3B



Some drugs.are depressants. Define .deph'ssant. WB
03,Core-1 B

A friend of Rene's has taken a depressantk List twi) effects.of the drug thiit Rene WB

. might notice in her friend. 03-Core-2 B

'Physicians often use depressants to tree people who are sick. Select the helpful WB
. ,

effects of depressants which might cause a .physician to Prescribe them. 03-COre3 B
a. To increase alertness
b. To reduce resIlessness :.
e. To help a person.react fiister

To prevent epileptic seizures
v. To lower high blood.pressiure

The graph below shows the distances required to stop a car at different speeds. One WB

line shows stopping distances for a normal driver.. The other line shows stopping 03-Core-4 B

distancq for the same driver after he has been drinking.
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Which curve repR'sents the stopping distances Iv the driver after he has
been di:inking?

Fxplain why the driver has different stopping-distance curves before and
after drinking.

Some people argue that testing a driver's reaction time is better than a blood-alcohol . WB

revel test. Both of,them determine whether drinking driver should be charged with 03-Core-5 B .

-drunken driving.
I. Why is the blood-alcohol test not always fair'?
2. Why might testing a driver's reaction time he fairer?

(3

It



WB
03-Core-BB

0.

Threl'fferent peop1e,411 about the same size, took the drugs listed below.

Person 1
_

1 sleeping pill and 1 oz whiskey.

Person 2 2 sleeping piU

Person 3 2 oz whiskey

1. Which person is likely to be affected most by these drugs?
2. Explain the reason for your answer.'

W8 Indicate which of the items in the list below are useful properlies of a stimulant
03-Core-7B prescribed by a doctor.

.4a. Relieves severe pain
.11. Helps cure an upiet stomach
c. Increases the appetite ,

d. Reduces drdvisiness
e. Relaxes people who tend to be nervous

WB
03-Core-8B

A-

Stimulants cafi cause. physical and psychological changes in a person who u s them.
Record the letters of any of the followiria which can- be The_effects est mulants.

-a. Physical dependence on the drug .

i
, .

.

. b. Sudden Ahaustion or C011apse because energy resAve's are used up
c. Difficulty in sleeping ..
d. Increased heartbeat rate
e. Increase of appetite

.
WB Toni's older.Orother told him that he drinks many cuPs 6f cOffée, which is a stimulant,
03-Corer-9B so that lie cap stay awake longer to study for exams. 'He says coffee eliminates the

neegl for sleep caused by late study sessions.
..1. Is cvgee really an effective substitute for sleep? .

2. Explain your answer.

Jack says that,his brother is beginning to develop a tolerance to a 'drug that he's been
03-Core- 1.0B . taking. What does it mean to say that a person is developing a tolerance to. a :drug?

1,813

03-Core-11B

(a Match each drug with its posSible source:
Hallucinogenic Drugs
1. Mescaline.
2. LSD\
3. Marijuana
4. Psilocybin

Possible Sources
a. Fungus. (mold) on grains
b. Hemp plapt
c. MushrOoms
d. Peyote cactus
e. None of these

.s.

2 it



A scientist is interestedin mea;uring the effects of Marijuana on a person's ability to WB

work on an assembly line. Below is his operational definition of the ability to work OICore-12B ,.

on an assembly Una,. . , .. - , . . . ... .

A person's assembly line. working.ability is detected and measured
by hit .score on a written test of the operation of his machine. The

. higher his score, the greater his assembly line working ability is. , ,r

1 . Is this a good operational definition of ability to work on an assembly line?

2. Explain your answer.

Two friends MI() share an apartment took exactly the' same amount of a hallucino- WB

genic drug.. 03-Corel3B
. I . Would you expect them both to experience the.same psycholokical effects?

2. Explain the reason for your 'answer.

'Suppose a buddy tells you .that he has. some LSD he wadts to try. Since he knows WB

yott'ye been discussing the effects of hallucinogens in your science class, he asks you, 03-Core-14B

'.'Whttt undesirable or unpleasant things could LSD do to me?"
List atjeast four different things you could tell him.

Althea hos taken LSD, a hallucinogen, five times in the last year and has had rio bad WB

effects after an'y of her trips. She claims that all this talk about LSD causing bad 03-Core-15B

effects is just meant to scare people.
I. Does Althea's experience prove that hallucinogens do not produce bad
effects'? ,.
2. State two reasons which support your.answer.

'0efinelhb term placeb.o. WB
03-Core-16B

When they test the effativeness of a drug, scientists give some peOple placebos and WB

-other people the .active drug, Explain why they do this. 03-Core-17B

What is, meant by double-blind experiment? WB

2. For what reason are double-blind experiments used? 03-C9re-1.8B

Jerry wants to find out if eating before going to bed tends to keep people awake. To . .WB

inveOgate .this, he has his sister eat a peanut butter and jelly sandwich before. she 03-Core-19B

goes to bed:every night for a week. His brother eats nothing before bedtime. During
the second week, his brother eats the sandwich and his sister eats nothing be.fore
bedtime. Jerry keep track of the length of time it takes his brother and sister to get
to sleep:eachnight for the twdweeks of tbe experiment.

Is Jerry's experiment a double-bUnd experiment?
2. bxplain your answer.

l

e.-
5
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:WB Your text suggests two reasOns.why (A's are passed.' State the text's reasonlhat each.
03-Core-20B ofthe following lAws was passed: .

.,
y

1. In -order 'to search someone's, home, an investigator must -get il search
warrant'from a judge.

,. ., 2. No person may buy the medicine Xeron without a prescription (permisSion)
from t.iiiedical doctor. ) ..,

WB
:03-Core-21B1

In Chapter 6,.you read that laws are passed for two reasons. Ohe reason' is to protect'. .

people' fi-opi. other .people. The, other reason is .to support certain -moral standards:
.'Does the, following law fit- one of,:the above categorie0'. "Everyone living

' in e'olumbus must pay a city income tax."
.

. 2. I il does, explain how. ,If it" doesn't, explain the reason that such a law
mig it t passed.

P..
WB For each of the following, indicate whetherlCis an. illusion (I), a delusion (D), or 14,
03-Exc 5-1-1B hallucina tion -(H).

. &person on an ILSDIrip says he can Teel the (AilOr red.
2. A person sees a mirage in the desert.
3. A person looking out the window of a stopped bus begins to feel that thC:
bus is moving backwards when a truck outside the window ,moves forward.
4. A person feels that he csn jump over ai.three story building.
5. A person believes that' keeping his fingers erossed Will help him get what he...,
wants.

WB ilie DSST. was used with new and regular users ,of marijuana. The test could be
03-Exc 5-2-1B thought of as an operational definition of onicentratilm (the'abilily to think clearly

quickISI). Explain why the DssT is an operational definition,Of'c'oneentralion..

WB Ken and Marty were carnicing orouNI,Lake File( late one night. They passed a cabin
03-Exc 5-3-1B in which a very loud and noisy parry was going on. Ken said that it.sounded like

,
a pot party. Marty thought it sounded more like a drinking party.

, 1 .Yere. the people at the party more likely to have been smoking marijuana
,

-'01;- drinking alcohol?
2. Explain your answer.

. tv


